
In Fig1 the RED cavalry unit is going to charge the BLUE cavalry unit in the flank. Any one of the RED 

stands can move first into centre to centre contact with the right hand stand of the BLUE unit, as 

shown in Fig2. 

Either of the 2 remaining RED stands can now move to the right of the first stand moved as shown in 

Fig3. Assuming the last RED stand to move cannot see the flank being charged, where can the stand 

move to? Fig4 or Fig5? 
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Fig3       Fig4 

 

 

 

 

 

 

 

Fig5 

 

 

 

 


